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GENERAL STUDIES

1.  Which of the following latitudes is a Great circle ?
& 800 FUE° @) BFOTR) (A VO S T WY o0& ?

(1) 231/2°N (2) 231/2°S (3) 66°N {4T 0°N
2. Karewa soils are formed due to the deposition by
(1) Glaciers {f]/ Rivers (3) Waves (4) Winds
§0a D)B¥en A8 @40~ JFOBERD.
(1) & dorer  (2) e (3) SSorren (4) Ddzves
3.  Which of the following state has witnessed rapid urbanisation during 2001-2011 ?
(1) Kerala (2) Maharashtra (3) fEujarat (4) Karnataka
&3 808 o°0¢° 2001-2011 cﬁa‘aﬂ;nﬁi SKom ﬁgzﬁéﬁm oA U“:é.l:;ﬂ
(1) S (2) Doy (3) thxos (4) Som»¥

4. The cheapest option for the long distance fl'EIgIht movement is known to be

(1) Roadways (2) Réﬁﬁays Airways Itﬂ; Waterways

VERS ([FrosreH DHBW DESabos® Eégﬂé -ES‘&\EE'O Sayeeae :
(1) &% drgrer (2) JSgdrorer (3) QDo (4) 2o Wrgrw

5. Ground Station of Satellite data retrieval in India is located at

(1) Ahmedabad ~ (2~ Shadnagar (3) Dehradun (4) Sriharikota
e SS83%0S® G|Tars G&rD |farow efrde Soso GOY (©3%0 ?
(1) wimorwrd (2) 38 D66 (3) BESHErS (4) |B%08°®

6. Number of towns in India as per 2011 Census is
2011 2o SE) o (WSO 288G %0S" Ko ‘é'.:n%:m't.r :f.:u:::q.:g

V) 5161 (2) 7935 (3) 4041. (4) 3799
7. Raipshadow areas of Western Ghats have
\-(‘1})-I Tropical wet & dry climate (2) Arid suhtrﬂpiél climate
(3) Humid subtropical climate (4) Tropical semi-arid steppe climate
DRy Shade ¥ Hrrayoh (Frosre B8 8 - ¥
(1) es0obd 8G, By (2) & ©abS O, DiYy
(3) &y & wadd Tar (4) @0 Ty, edbiy D
8.  The environmental movement which was against testing missiles on the land :
(1) - Bishnoi movement - {/Z)/' Silent valley movement
(3) Baliyapal movement ? o movement
ahrerfiow Shme HHED ‘éag@ﬁéuw 2000 ujcﬁg‘éa GO - F
(1) DAod &idgdvo (2) MSo& a:a'gé g0
(3) w2rdabrard Gdgo (4) V% adgo
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10.

11.

12.

13.

14.

15.

In Telangana State, families of farmers who have committed suicide are given
compensation of 21/ .
(1) 10 lakhs (2) T 5lakhs (3) T 15lakhs (4) R 6lakhs

3e,0med ad)drdg FER) Geh HEwo2r A8 VoSS0 a&sud o
(1) &~ 10e8en  (2) e 55w (3) &r. 158w (4) &r.6olw

Out of the total labour force, the percentage of workers engaged in construction in
Telangana in 2014 was

Scormrns® 2014 &° Ddo 5°0)8 Dopgs® Aoy Sorod® DT T°0 Tl -
(1) 10% (2) 9% (3). 8% (3) 6%

ITIR stands for
(1) International Technology Investment Region

_»<[2] Industrial Technology Investment Region

(3) Information Technology Based Industrial Region

‘w Information Technology Investment Region

©.8.2.a6. (ITIR) esor

(1) =0&B)adS Bsmyed adkyDdod d2ahS

(2) =odyodHS Bsm e asgDod d2abs

(3) aSa’;a‘gﬁs Bsm o2 ©g08 R0&EYADE 5220H8
(4) aS;Ja‘éﬁ.uS Bsmed agODos H2ahHS

A person registered under the MGNREGA is guaranteed
(1) 150 days of work (2) 125 days of work
(3) 175 days of work &) 100 days of work

MGNREGA 20 2 53 3‘£h§)fol§:5_§a§ QQJ_SEE":.G 0D Had éﬂaniﬁmd:émﬁ ?
(1) 150 &2 (2) 125 &°=rew (3) 175 8w (4) 100 &2rew

The first Open University of India was established in

(1) Ahmedabad ( Hyderabad (3) Allahabad (4) New Delhi
2 8STF0S" BB FBg B Diedargeabo ) d o D ?
(1) odnererd (2) wSorerd (3) eedtrd (4) g &d

As per 2011 Census density of population in Telangana State
2011D 2aryr S o (WS*E0 SLOMe oy Srplellaty’

(e
/(4/ 306 ) (2) 350 (3) 382 (4 390

Hyderabad Tenancy and Agricultural Land Act was enacted in the year
WSorers Seo, Dgdrdd o DabED VodS B0

(1) 1948 (2) 1950 J!r}] 1956 (4) 1975

Series-A 4 600



16. L‘ﬂﬂch district has the highest ST population share in its total population ?
)

Khammam (2) Adilabad (3) Nalgonda (4) Warangal

D&o 2o 23S NO2D 2arer Q) DT &R R

(1) 5}3&:}3’0 (2) edererd (3) ®STod (4) Do
17. Major source of irrigation for agriculture in the Telangana State :

(1) Canals vtf]q Tanks

(3) Wells (4) Water-Harvesting Pits

SO m‘é:jc:-ef}‘ DEDIADEOMTIE DIEID (VTR Q8 SHHew

(1) sreoned (2) JIDHYew

(3) erpen (4) D& 50%HH Hoden

18. In Telangana, Agriculture sector contributed to GSDP at current prices for the year
2014-15

Buomrnd” [ 8o [Ds*Bo 2014-15 ro o7y &3 (GSDP) &* SgdJraborio

e CI°
(W 17.5% (2)  25.0% (3) 57.1% (4)  70.0%
19. Industrial growth rate of Telangana during the year 2014-15 :
(1) 3.1 percent (2) 4.1 percent (37 5.1 percent (4) 6.1 percent
2014-15 VoS80S Beormen 0 ([FdE SDD)B Oéw
(1) 3.1a3e0 (2) 4.1=~&o (3) 5.1=~&o (4) 6.17~&0

20. Who won the Gold Medal for Weight Lifting in the women section in Common Wealth
Championship, 2015 held in Pune ? i
Thuram Priyadarshini (2) / Indira Priyadarshini
(3) Karnam Malleswari ‘}o (4)' Kandukuri Rameshwari
2015 & PrBS° 2000 SPTORG T0PAHSDS® DIrde Sowd ODohA Do oS’ Y
wSE0 R0V I ?

(1) DS (P0HESTH (2) =oBo" |LAHSHI
(3) ¥dwo ©dHe0 (4) EoHErd orab#g0d
21. As per 2011 Census lowest literacy rate district in Telangana State :
(1) Medak (2) Mahaboobnagar
_A3) Adilabad (4) Khammam
SLOMTH TFRY0S" 2011D 2xeer SH o (WstHo w3SEND viorugd e 2
(1) &S (2) DIrewedeaiid
(3) edec2rb (4) q:‘é»&u

22. Planning Commission was set-up in the year
(e RE Voswo [FEoDoWR ISR tele 7
(1) 1947 (2) 1948 (3) 1950 (4) 1951
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23. The objective of “Inclusive growth” is emphasized in which plan ?

(1) Eighth plan (2)  Ninth plan

Tenth plan Y4 Eleventh plan
"b&):&@é ‘éagg U FERD o) (L ¥ S Lﬁ--:;ﬁ‘égé 2D ?
(1) QDED (e O (2) E&gﬂﬁ& (e 8
(3) VIS (e ¥ (4) VS80S (e 9K

24. Who among the following, described the revolt of 1857 as the first war of Indian
Independence ?

L

(1) Ashok Mehta (2) V.D. Savarkar

(3) S.N.Sen A4) R.C. Majumdar

&3 8508 5°0S° JDh 1857 A&idrere vy (DS e Jrgdo(Eg Do '3.15“3_31&3 ?
(1) %8 e (2) D.6. 3588

3) M8 DS (4) e6.2. Herocb

25. The chauri-chaura incident took place in the year
W0 - To° VoL o ‘é:n‘é*_régdatﬂ" 220fod ?

(1) 1920 (2) 1922 (3) 1925 {4\/ 1930
26. Who was known as the “Frontier Gandhi” ?

(1) M.A. Jinnah ~{.})/ Khan Abdul Gaffar Khan

(3) Abul Kalam Azad (4) Mohammad Al

WO Mo’ ™ DesdEH0 IS ?

(1) oo.a. 2oy (2) 27 wed Karb w8

(3) eend Lo ewernd (4) D6 e d)

27. The third Anglo-Maratha war ended in the year
AWrED sl - oo oﬁn%ﬁo iy LoREVE0S® A0S ?

(1) 1792 (2) 1798 (3) 1805 “(8) 1818
28. Who championed the cause of Dalit communities in Travancore State ?

(1) Ayyankali (2) Kelappun @, Sahadevan #ﬁ( Ayyappan

|&°308°6 Ore2g0S" &OE Dbwrdy V0D Seordes 8908 25 ?

(1) oaheoxd (2) SedyS (3) VLS (4)  ©abeNS
29. Who propounded the theory of “Drain of Wealth” ?

Dadabhai Naoroji (2) Mahatma Gandhi

(3) M.G. Ranade (4) B.G. Tilak

VoS 8O0’ ?.ngoﬁﬂal oI PS80 ?

(1) ororeran F&8 (2) D&Fe mod

(3) Qo.2. 853 (4) 8.2 8§
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30.

31.

32.

33.

34.

35.

600

Identify the first Indian Native Ruler who accepted the Subsidiary Alllance System,
introduced by Lord Wellesley : -
A1) Hyder Ali (2) Ranjit Singh
(3) Nizam Ali Khan (4)» Nawab of Bhopal
f:-§ EEEﬁJ E:.:ﬂ:ﬁ'z:.g.’a :'n_J}’:ag arstd mam 2 erdaad éhﬁé f—"ngdJ s
©0A%Boo8® H80B0s :
(1) 86 ©d (2) Eo28 ok (3) Dero wdarsS (4) 5 darew
The Soldier who revolted against the British at Barrackpore in 1857 and became a Martyr :
(1) Cheeda Khan (2) KunwarSingh (3} Mangal Pande (4) Bahadur Shah
1857 &* e 54y°6 (DS 5708 Hg8TLorm BiHer ity T SDHED PIHED I ?
(1) Woeers (2) éﬁsﬁ:‘bﬂﬁ (3) HoHSarod (4) &Srbar
Who among the following took part in the Quit India Movement ?
(1) Motilal Nehru *~ (2) Dadabhai Naoroji
(3) M.G. Ranade » (4)  Aruna Asaf Ali
&3 808 &0&" 828 20GAf GEIVOT” TR D Tt 7
(1) Jraerd JEmor (2) ororran F6°2
(3) o.2. 848 (4) e LD ©d
Which political party gave the slogan “One-Vote-Two-States” in the context of Telangana
Statehood ?
(1) Congress Party h(,szmzmﬂurnuni:'-.’c Party of India
(3) Bharatiya Janata Party (4) Telangana Rashtra Samiti
3eormm o7y Hon)dH Voodod ‘af Létn Bod Trargen’ O3 ATB0 AW
or228ad 9 28 ?
(1) sco@ P (2) 8 Ehwrgdap 0
(3) e2rdaad ade 0 (4) Beonrm Tty VDS
In Telangana ‘Budubunga’ is
(1) atree (2]~ a bird (3) atype of pot (4) afruit
Beomo (ros0S? 20ehenol’ 8 A Bwolrd.
(1) 25 3 (2) 2828 (3) 2.8 653D Dok (4) 2.8 Do
Hitabodini Newspaper was edited by
(1)  B. Srinivasa Sharma (2) Devulapalli Ramanuja Rao
(3) Dasarathi Rangacharya 44) Madapati Hanmantha Rao
S50 T°g° W|BE WoardSHid
(1) O (B0 15 (2) DYDY TrErRerTTY
(3) ©°%88 Sormrwrdgen (4) Srdardd ;'Jﬂ‘{o&ur‘_‘:m‘é\g)
T Series-A




36. Secunderabad was named after whom ?
(1) Secunder Pasha (2) Secunder Bakht Secunder Jha (4) “Secunder Lodhi

JH0 DS VoS bﬁgaﬂﬂi ?
(1) 2Bos6 > (2) VBoSESE  (3) BosSE Sy (4)  HBosE &

37. Identify the commander-in-chief who led the Nizam’s Army during the Operation Polo :

(1) Laig Ali-¢ (2) Kasim Razvi *
(3) S.A.Eldruss _A4) Mehdi Yar Jung
&HONS VS* Vabod® Jerro Vg VETVTZELHE DS
(1) oobhrE w0 (2) s R0y
(3) R AT (4) Derdobrbzoh
38. The Mozam Jahi Market in Hyderabad was named after
(1)~ the second son of Osman Ali Khan (2) the first son of Osman Ali Khan
(3) the brother of Osman Ali Khan (4) the grandson of Mehabub Ali Khan
WETTrS &°Q ez wrd) O% JH0 W VORVES ? .
(1) &3S wdar S Bodd HErHdH (2) &S S IS Hardh
(3) &‘3‘3:5 wdarS JdEHDH (4) . Hirard 9dwrS H5HH
39. The Hali Sicca was introduced by >
(1) Quli Qutub Shah (2) Salar Jung |
(3) Mir Alam (4) Bahadur Yar Jung
O - VS5 @’ﬁ%"ug}?a&
(1) %0%H&5 ap (2) S Jrebeoh
(3) ob wud (4) =288 aebz=0h
40. During the 1857 revolt in Hyderabad Turrebaz Khan was shot dead at
(1) Medak (2)  Shamirpet (3) Toopran [4-1/ Bhongir
S0 1857 BBibHerw s*e0” H(GerSprad )¢ 5ty Woard ?
(1) DSE (2) D& (3) &rErs (4) 2HEOAG
41. Khilashapuram in Warangal district was associated with
¥ Padmanayakas (2) Sarvai Papanna
(3) Akkanna-Madanna v ¥ (4) Gona Budda Reddy
Do 2 R PerarBo JHBE Vowogo EDN &0 ?
(1) ‘&ﬁ&a‘a‘i}ém (2) “.-.-':JTSUJ} SR
(3) w0, wrdDy (4) ﬁﬁ-’awgﬁ%
42. Prataparudra-Yashobushanam was written by
¥ Vidyanatha (2) Ketana (31X Potana (4) Thikkana
[PErdHE HFerhmod SDoWod - :
(1) Dorgardid (2) B&S (3) FSS (4) 8%
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43. The sequence of eating and being eaten in an ecosystem is called as

(1) Ecological Niche —4{2) Food chain
(3) Food level (4) Tropic structure
S57H8es ‘bgé:“’geﬂ‘ SO, Bvwhd 83 (DB Jotrd ?
(1) ‘bmgédmfﬁ'd) (2) o386 DV EO
(3) wSEIrw (4) T Jo=ymo
44. Who proposed the term ecosystem ? L
(1) Rieter (2) Odum (3) Earnest Haekel (4) Tansely
“-:’.H:.r'géﬁm &5&2’3‘ (ecosystem) ess DI oo (LB B0TED ?
(1) 066 (2) &o (3) By eSS (4) GrSN

45. Name of the Indign Research Station at Antar\c‘tFa :
2)

(1) Haridwar Dakshin Gangotri

(3) Aboa (4) Mendel Polar Station

©0&r0) B85S 288 HOF P SoEo v

(1) &r0o=gb (2) &3 o8

(3) = () Dodkd Ferb POS
46. When'was Biodiversity Act enacted in India ?

1* October, 2003 X2) 1* March, 1999

(3) 3" November, 1980 (4) 3™ April, 1972

2 58350S" ZHIVG ey @ VoHEVEoS® T ?

(1) eswE‘aJE 1, 2003 (2) Sr0)1,1999

(3) Wdowb 3,1980 (4) QR 3, 1972

47. The process of converting a gas into liquid is known as

(1) Melting . ~_{2f Condensation
(3) Freezing (4) Vaporization
2,8 arabv) (Gadrdore ‘é::rﬁg BES JDoESH ?
(1) ([BesRo (2) Yo3De0
3) sdo (4)  arapaddo
48. India’s First dedicated Multi Wavelength Space Observatory launched by ISRO is
(1) ASTROSAT (2) SPACESAT (3) CASMOSAT (3) CARTOSAT
ISRO (wadrAoDN Engﬁnﬂﬁﬂ b@ SSEDE f..:;jﬁ @m‘aﬁsmé
(1) oFya& (2) TS 3) s¥QYTE (4) sOE
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49,

50.

51.

52.

53.

54,

Which of the following country is recognized as one of the mega diversity centres ?

(1) Thailand .(/Zr India (3) Bangladesh (4) Pakistan
& 800 AS* DHFIAS So(So (Mega Diversity Centre) ™ H0BES DDA ?
(1) orabero& (2) er883%0 (3) woords (4) 8IS

In a Human body, the size of the

: {1‘}/ Right lung is larger than the Left lung

(2) Right lung is smaller than the Left lung
(3) Right lung is equal to the Left lung

. (4) Lungs changes & no fixed size
Rk %6808° &1208Hhe VOHrEo €8 808 Ao G0wod ?

(1) & &v08 M&mﬁéﬂhﬁnﬁ&m GOotno8.

(2) ¥G &I1OBB Kb AET™) {'.)‘.blﬂrr' &0otnod.

(3) &, Xbw» EBDOSHen VIP0m &0 .

(4) &8288&he BOIrEO WrHEr GowOod, VOO VB0 & OBdD.

In water solution, a base substance will release

(1) H ion F“,[;J/IDH‘ ion {3}. Oxygen (4) Hydrogen
SO, ABS* KDALY & 308 Yo JeshthEod :

(1) H ears (2) OH wafes - (3) ©83y=2S(0,) (4) °&'=s

The term ‘RATOONING’ is associated with the following crop :

(1) Wheat (2) Sugar-cane ( Cotton (4) Tobacco
‘BerrQof’ o3 Who & 808 Lo6H VowodoWo.

(1) /D (2)  IES (3) 03 (4)
Which one of the following is India’s Supersonic Cruise Missile ?

(1) Agni-2 . 2y Brahmds  (3) Nag (4) Trishul
& 308 >B8S* 8 grdaad WweHs JVE (Kraved DS ?

(1) ofy-2 (2) LE‘JE(JE’&E (3) &°A (4) (B%S

Where is Integrated Test Range (ITR) facility of DRDO (Defence Research and
—— s —
Development Organization) is located ?

(1) Hyderabad (2) Pune (3) Dehradun [4T/Balas.{}re
DRDO % o208000 208086 B So2 (ITR) %) & &0 ?
(1) Zrdorere (2) 2rd (3) GESErS (4) 2rerived
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55. ‘;Ih/kali Ailamma fought against the Landlord_of v
)

Palakurthi (2) Kadivendi (3) Visnur (4) Jangaon
TE0 Do) o DD Shiberin Svod ?
(1) &SreXd (2) ¥&30d& (3) dard (4) a&ormro
56. For which novel Ampa Shayya Naveen got ‘Kendra, Sahitya Academy’ award ?
(1) Kala Megham (2) Telanganam Ampa Shayya  (4) Kala Rekhalu
@0D%ahg WS TP @ WHeH So g 95 ED v eDoDod ?
(1) sredwo (2) 8wormrmo (3) eodiabe (4) scedwes

57. ‘Maneru’ river is a tributary of

“(1) Godavari (2) Krishna (3) Penganga (4) Manjeera
“Sra 308 aD5s ?
(1) Koo (2) E)ar (3) ol (4) oor

58. The Devadasi/logini system prevalent in Telangana would be violative of which of the
fundamental rights ?

(1) Right to Equality ‘[2} Right against Exploitation
(3) Right to Freedom of Religion ~~(4)  Right to Life and Personal Liberty
8corrn ([rodod® GO oo Toe £5A0 ‘é:g‘é)"%: & 300 |FEDE ¥y oSt B

G o008 ?

(1) ‘J.J‘énﬂt’\‘:és‘ég Q’FE)&_ (2) S A58 o5
(3) & JegSo(SgRy) ¥y, (4) 2220, BIEL '531513 &y,
59. Idertify the Law Professor who was a member of the Sri Krishna Committee :
-ﬁ(’f}?{'r Prof. Vikram Singh (2) Prof. Ranabir Singh
« (3) Prof. V.K. Duggal (4) Prof. K. Nageshwar Rao
(35)8 SDES® VWA &) TgabTRY (FOED HB o).
(1) (D6 JEooh (2) (@06 SeaddELoh
(3) (W06 JE. fﬁ:f{‘j:‘f (4) (06 S. a*ﬁ%sﬁm‘é))
60. Which town uﬁg_the district head-quarter prior to formation of Mahaboobnagar district ?
) Gadwal (2) Wanaparthy (3) MNagarkurnool (4) Narayanpet
VLR LBV ESTe ) 2oem bﬁgdé oD WO@O B éﬂ@um G0Gd ?
(1) HKagd (2) HIDO (3) =KbsEmes  (4) sSrocabmad

61. The total number of tanks/lakes proposed to desilted under the scheme of ‘Mission
Kakatiya' of Telangana Government : T e

8o [WHE0 (WEBOVD ‘DS s*E3Ab’ VKo 3o ) IDHes® Hras
Botred $08030T ?
(1) 9300 (2) 8212 (3)"746500 (4) 54000
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b2.

63.

64.

65.

b6.

67.

The novel written by Dasharathi Rangacharya with the backdrop of Telarrgana Peasants

Armed Struggle : >

(1) Gangu (2) Prajala Manishi (3) Cheekati Rojulu (4) Jana Padam
duome Jrad Seroll Frord Rdgos® aisa Sorrardg 8000 Dde ?

(1) Kot (2) Pzed  (3) VES e  (4) =dHS0
Who is the author of famous song “Jaya Jayahe Telangana” ? /

(1) Goreti Venkanna (2) Gaddar (3) GudaAnjaiah (4] Ande Sri
‘zabzader Beomrs’ o E:qugé Ffaisﬂﬂl oraie S

(1) ATSB08y)  (2) KL6 () rd womabe (4) woBd R

The famous sand Artist from India :

(1) Sunder Patnaik (2) Sudheer Raghavan
\_(3')/' Sudharshan Patnaik (4) Sadasiv Dube

e 883% Prgd VES Sers b

(1) woss Deeyabs (2) 88 oindS

(3) &SE)S Deryabs (4) DS &2

:Pe among the following, the Indian Constitution recognizes as a minority ?
)

Linguistic (2) Gender based
(3) Regional based (4) Forest based
e°8& oregoiio 808 F°0S® JHOR e NVogre s Dorear HHoDd ?

(1) i (2)  QonuBHD (3) |ProdDorr (4) wobIDLIorr

National Commission for Women was established in the year

2 add DIy ¥DuSSH Dm;jdm SO VoSS0 _
(1) 1992 (2) 1993 (3) 1991 (4) 1996

Whose Ph.D thesis was entitled “The Problem of the Rupee : Its origin and its solution” ?
(1)« Dr. Manmohan Singh (2) Dr. C. Rangarajan
J3) Dr. Montek Singh Ahluwalia (4) Dr. B.R. Ambedkar

B ([FraD v o ad) 902 wok 2l Perglis’ o VHE L VIS8 NP0
TR Tr0GDMm 7

(1)  &E0 DIDLSVoA (2) 86 2. Sodoras
(3) @50 2roBEVOA wroardalr (4) @50 D.06. w0 6
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68.

69.

70.

71.

1.

X

Which country has awarded ‘Order de la Democracia Simon Bolivar’ to Indian spiritualist
Sri Ravi Shankar Guruji, for helping to restore peace in their country ?

(1) Bolivia -{f} Colombia

(3) Paraguay (4) Cyprus

$D TH0S® Fodredino IEIodHhD ) DIN0HH s g ) $34
82 3086 Er28 ‘wib & o0 @R Edakr P FODE” o (Darvo DV do
(1) S*Oope (2) B*eodabe

(3) Dorre (4)  JEOS

In which place the first Indian Defence Industrial Park is proposed ?

{1) Kerala Een 52 - (2) Goa

(3) Madhya Pradesh * (4) West Bengal

2 88350S° IR0 S¥eo F BT FER ) & Jomye Db eyt ?
(1) Sy (2) s

(3) D&SgS7 (4) DRy Borrd

According to the recent report of National Crime Records Bureau (NCRB), what is the
National suicides rate for one lakh population in India in 2014 ?

Mr_‘f@& 058 2w=¢&° (NCRB) O (05780 2014 S° TH0S* (D8 o HodST Jos
208 rdaches Eé&a’?égméa éﬂtggfﬁ} ?
(1) 106 ) 102 (3) 9.8 (4) 95

As per Tourism Ministry, Govt. of India, which State was attracted more National and
International tourists in the year 2014 ? |

(1) Telangana G ‘t{ Kerala

(3) Andhra Pradesh (4) Tamil Nadu

08 DorghE Do (@eary (MstS0 2014 &F Q) D Dod B3ah - WBIab DOE LD
©E00ID 0®290
(1) Sec.ormro (2) S5 (3) HG@L&HE (4) SdFoeh

‘Prime Minister’s Kaushal Vikas Yojana’ is meant for
(1) ~ To provide employment for youths

(2)  To provide pensions for unemployed youth
(3) To encourage skill development for youth

\/(4] To provide financial support for entrepreneurs young

600

(PED Do (B B%S Js=0 abrwd’ 308 &530008 ?

(1) ofvdes® ﬁﬁ:’:‘gﬁ geyo

(2) ﬂﬁaﬁﬁgr‘bmé WD wodEabEo

(3) adesst SWeagd DodrododBEabEo

(4) oD FOFTDE IEe ﬂgé wdtabho wodoWSdo.
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73.

74.

715.

76.

77.

Name the French company that supported ‘Make in India’ :

(1) Airbus (Ba—\ X2)  Airjet

(3) Airmate Jambojet

‘D5 as nodade’ DEHIDYD (oD 0 08 ?

(1) Qawbao (2) Ddowb3&

(3) dowdD& (4) 208°BS

Name of the painting that Narendra Modi has given as a gift to France President,

Francois Holland :

(1) © Jeevana Jyothi (2) Jeevana Vruksham

(3) Grama Jyothi ~/(4) Bharatha lyothi

7R w&gHD (P05’ FFer 0GB % WOO|EFPE 2ImEB0WD VAol W
(1) £55 é‘g-‘:’ﬂ (2) 205980

(3) (T é‘ga (4) 288 £

The Chemico Corp. of which country recently India entered an agreement to import
3,220 Metric tonnes of Uranium ?

(- Australia (2) Candda
(3) Germany (4) France

adde o J708 Bodd SDE° s°5°y ‘bo‘ig? 2 8EC%08,220 DHE e abdAabo
BIHDS %00 2030850 HHEHYH0d ?

(1) e9dabe 2) Bde

(3) &8 4 (N

As a part of tour to which country Narendra Modi inaugurated International Yoga Day
website ? -

Canada (2) Germany
(3) America (4) France
o 3% DEZOIS” 2 Korp@rd odoradd Grme O EYD F1ED (FFoDowd ?
(1) Sdee (2) 28y
(3) w@Dds* (4) L:&“E:J
Indian origin American, who is appointed as American Ambassador to Sri Lanka and
Maldives :
{1‘)/ Richard Verma . (2) Atul Kashyap

(3) <BobbyJindal . (4) Chivkula Upendra

FLeE\ S OYLH vDOs® Traherdr JoHDEHTH 88 VoSS Jold ©I~0ES
wgs D 7

(1) ﬂég bﬁg (2) e 51%55

(3) ord 2o’ (4) Dpde &o
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78.

79.

80.

31.

82.

83.

According to the National Geographic Travel Magazine the rank given to Hyderabad

among the Best of the World 20 places you should see in 2015 :
gf Two {Zi Four #3)  Six (4) Twelve

B e V8 (DS SrgiES (05700 2015 &F GG 20 eEh (D0 HiTrUEt
ST Sy F00 wHood ?

(1) GCod (2) redtd (3) o (4) ‘a’:ﬁlﬂﬁb
Name the pension scheme launched by the Telangana Government.
(1) Bharosa T—ZZAasara (3) Roshini (4) Sahaya
S0 [L2HSR0 |E0DOWD WIS VEE0 W ?
(1) &8> (2) oo (3) &% (4) HSsad
Name the Foundation started by Nana Patekar to help the families of suicide farmers in
the Vidarbha region :

,UP)Satnam Foundation g (2)  NAP Foundation
(3) NAM Foundation _ d%)— Nana Foundation
DESY |Fros0S” wdHirdg THHY) T HevoaruDH VSaho DD e DBEE
Q‘EJG% "JJ:::;; % ?
(1) Devyo FoBAS (2) IO F0EAS  (3) D FoBAS  (4) T 0TS
The winner of Nobel Prize in Literature in 2015, Svetlana Alexievich belongs to which

country ? 1 12
(1) Russia (2) Tunisia (3) Czechoslovakia (4) Belarus

2015 &° Jrégos® FTS D8 Fodd LT 0TS & TTA8 Jodd
SSan(e ?
(1) &arg (2) . orgdnabe (3) JI®Far8afe (4) BorE

Who was the first writer to return the Honour given by the Sahitya Akademi protesting
against rising intolerance in the country in 2015 ?

(1) Nayanatara Sahgal J2) Waryam Sandhu

(3) Ajmer Singh Aulakh \Lt})/ Sarah Joseph

2015 &° *&Jﬁh#c‘iﬁ’al e P8 AR bﬂ&vég S &EaD um?‘:’m %Q'& ai}g‘c’a
5»@33»{5&3 ‘égg‘: oIt ?

(1) waboerd Variid (2) a*dga pTeTas 1
(3) ©=bvof vy § (4) Joe D
Komaravelli Mallanna Temple is located in the district of
(1)  Medak (2) # Karimnagar (3) Ranga Reddy (4) Warangal
§DEID Ded) Bareaho o 2 S” G0d ?
(1) DSE (2) ¥b6o5K6 (3) o3& (4) HBond
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84. The Director of Telugu Film “Nimajjanam” which won the Best Telugu“Film National
Award in 1979 hailed from Karimnagar District. What is his name ?

(1) M. Prabhakar Reddy A2) B.S. Narayana

(3) Tyagaraju (4) Narsinga Rao

1979 &° eotdh e &&H D& JOVSD VER0" S ¥bodird 2
DoAW . eabd D ?

(1)  oo. R2rE6 3G (2) B.0. srorabe
(3) evgiiore (4) DByoro D)

85. How many spokes are there in the Ashok Chakra of the National Flag ?
230 BoarS*D oFE F|¥od? ) HdgeoTaw ?

Sy 24 (2) 34 (3) 26 (4) 36
86. Who organizes World Twenty-20 ?
M) BCCI (2) Hccl {sf ICC (4) cc
(B0 ©20¢3 -20 D JOBH eI ?
(1) D2 (2) or8.2.2.0. (3w RLP. (3) .0.2.

87. The popular Dance form during the Kakatiya period was

{1}_; Chindu (2) Yakshaganam
(3) Perini Shivatandavam (4) Kakatikeli
s*¥aahe sceomed [Raregd Dydgo

(1) Dod (2) abEnroo

(3) W03 Fdberoddo - (4) s%839

88. Who composed Music to the recent Telugu Movie Rudramadevi ?

(1) A.R.Rahman } (2) Keeravani

(3) S.S.Taman - A4) llayaraja

&t g oS WETH Beoth 2% S|SB ‘fbnﬁ@bl T VDEFO TS ?
(1) Q.es6. 85ErS (2) &8z 3

(3) DR, SHS (4) =aFddorer

89.  The famous Telugu Film Lyricist Chandra Bose belongs to which district ?

L:H/ Krishna (2) Prakasam (3) Warangal (4) Karimnagar
a3 Beord ANAH Sand So(B o 207 Iodd D ?
(1) EHar (2) [Ds=%o (3) Do (4) E60%ii6
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90. In Telangana villages Ganagalam is used for whic;:ypﬂse ?

(1) Cooking Food (2 Storage of water

[351: Storage of Grain (4)  Measuring Grain
Swome VTS Koo &8 GOAHAIL ?

(1) Sod Faheeda (2) .f}@-‘o@ Qe G0USEEIS
(3) t;ﬁ’ago Jee &oBEEIA (4) r;v‘ésgu oG8

91.  Which of the following is an instrument used by the carpenters ?

(1) Hammer ¥ (2) Sword
(3) Badisha (4) Karru
& 808 &° Hldon sHarAOS DIWED B ?

(1) 3 2) %8
(3) eE% (4) 5|1

92. ICRA ranked Telangana State as A for the following reason -
(1) Telanganaisa newly formed State
(2) 7 Prompt Repayment of Loans
~" (3) Telangana has very good State’s own tax revenue
(4) Tefangana has very large Land Bank
&2 308 s*8mo > ICRA oo :T-Q‘ji}é A+ 555 58;«,:::{2&05 :

(1)  8eorrt Sdm 363{_;7 o905 28,

(2)  oVyeDbsreodt DOV Do,

(3) Beormre TS’ g0 I & sarado ) S GodEo.
(4) Beormrpdt ®S 2008 £OA Hoddo.

93. The other name of the earthquake occurred in Nepal in April 2015 -

“1) Himalaya Earthquake (2)  Gurkha Earthquake
(3)  Smiling Buddha (4) Terai Earthquake
QRS 2015 &* FFSE* HoIDo DS rZ0arl8 D&Y H
(1) &droead oo (2) ?ﬁ%g 2e¥odo
(3) 200h EJJQ (4) 8orab 2¥odo
600 17
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94. Today, | have to appear for interview at a software company in Hyderabad.

(1) . an “(2) the (3) a (4) are
95. While travelling yesterday, | met famous actor on the plane.
(1) an (2) the A3) a (4) are
96. accident during the rush hour can hold up the traffic for hours together.
4 An (2) The (3) A (4) Are
97. This factory some of the best watches in the world.
) manufactures (2) is being manufactured
(3) manufactured (4) manufacturing
98. Many believe that global warming is affecting our climate.
(1) scientist »H‘}’ scientists (3) science (4) person
99. Alittle has been done in this area.
(1) researcher (2) researches “(-{} research (4) researched
100. The new drug prevents the fungus spreading all over the skin.
(1) on NZ)  from (3) 'in (4) * over
101. Do you have any knowledge how our government works ?
[1}3( about {%L} of (3) for (4) if
102. He was very anxious the outcome of the interview.
(1) of 2] about By for (4) if
103. Most engineering students choose to in their own accommodation by the time
they reach their final year.
(1) lives 52‘) live (3) areliving (4) lived
104. From this graph, we can see that the pollution levels in our city at the moment.
(1) increased (2) increasing
31 areincreasing (4) will be increasing
105. If the current trend continues, the average income by 50 percent.
( will increase (2) increase (3) increasing (4) increased
106. Some of the applicants to face a Group Discussion round before being short
listed.
3 have (2) has (3)  will (4)  am
107. The Mess Committee meetings and discussions before deciding the menu in
the hostel.
(1) conducting \/{2,'1 conducts
(3) “has conducting (4)  will conducting
108. Today, the children late for their school.
(1) was (2) is fi’{} were (4) am
Series-A 18 600



109. Directions"':" In the question given below, there is a statement followed by two
assumptiﬂné numbered (I) and (Il). An assumption is something supposed or taken for
granted. You have to consider the statement and the given assumptions and decide

which of the ﬁssumptinn[s] is/are implicit in the statement.

Statement : Cadaver organ donations on the rise in Telangana - A news report.
Assumption | : Cadaver organ transplant operations are not successful in other states.
Assumption Il : People of Telangana have realised the importance of organ donation.

v}( If only assumption (I) is implicit.

If only assumption (1) is implicit.

(3) If neither (I) nor (ll) is implicit.
(4) Ifboth (1) ;md (I1) are implicit.
Grdhes 1 &8 L‘:bi‘élﬁ‘ 28 |DEOD (Statement) 0A Tod ‘rdoWD @oTTL’
(Assumptions) *a‘éjsa:g'un. 2.8 (5L DADHER8 GRAKLEr Jdereo oD
BOTUS ‘PO BoTeT’ WEPRDHD). ‘PrAoVD o egrdors (DELN
Dabdo 2HHHod. WO (DEGD WO ‘PrIoWD woTreR’ LOIDoD (HELD

SaHER8 ) wo%o Sae woTBTLD P0G HY0E0a.

(805 : DETR0SY whabdharno 8vormrnd® VHIHE 0D - a8 arge §&vo.

FPR0UN ©0F0 — | 1 DIFFR0SE0 VEDODD DDLU IO wINd BTN (@(Bad
abifee U‘*Q'"jué‘ DezabdHoso steh.

PO Wn WoR0 — Il : DYoo Sd HODRETR0 @Jéa_ @ﬁa‘bu‘?&l SO (W22ew chi
ST .

(1) 2°QoWS ®o%o - | e|BD

(2) 2rDoWR ®0%0 - Il e Ed

(3) 2rJoWN woo -1woal Il sTY)

(4) z,i‘Dc:D}‘EJ @040 -1 Db6a I
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110. Directions : In the question given below there is a statement followed by two
conclusions numbered (1) and (I1). You have to assume everything in the statement to be
true, and then decide which of the two given conclusions logically follow(s) beyond

reasonable doubt, from the information given in the statement.

Statement : The food-grain production in India during 2014-15 is 252.68 million tonnes

(MT) as compgred to 265.04 MT during 2013-14.

Conclusion | : This is the first time the production of food-grain has fallen when
= JiTat &

compared to previous year.
Conclusion Il : The government has not provided adequate loans to farmers.
(1) If only conclusion (1) follows.
(2) If only conclusion (1) follows.
{_3)/ If neither (1) nor (1) follows.
(4) If both (1) and (Il) follow.
artSoey @ S @’Jél:ﬁ" a8 [ELD (Statement) “0ah ok L’Jgoﬁ“w (Conclusions)
aagugraY. adgad [HDEGSD Y Jorr erdr d AYaires (HEGS sESorm DHoak
$&adom DabGdS* HdoBod.

(PEWS : erdsd%¥os® sSFEoTrge GENS 2014-15 VODSVB0S® 252.68 OAWDS

&Hyeon, 2013-14 &° 265.04 DOADS YT G 08,
~gabo — 1 : KEDS ‘é‘.:nn‘c’::égﬁui’»‘ @‘B'_fg TP% et FIgU GENS Si&o 23 JSBI0.
Sgado — Il : REbéco FhedH SAdodm BVY WoB0WBTL.
(1)  JZabo - I 'de| S
(2)  JZabo - e ED
(3) Fabo - 1ok Il 5=

(4) Jgabo - 1B i A
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111. Directions i’ In the question given below there is a statement followed by two courses of

600

actions numbered | and Il. A course of action is a step or administrative decision to be
taken for improvement, follow-up or further action in regard to the problem, policy, etc.
On the basis of the information given in the statement, you have to assume everything in
the statement to be true, and then decide which of the suggested course(s) of action
logically follow(s) for pursuing.

Statement : There are many motorcycle accidents in the city these days.

Course of Action | : The authorities should encourage the motorcycle riders to use

helmet.
Course of Action Il : The motorcyclist should be discouraged to drive at high speed.
(1) If only Course of Action (I) is suggested.
(2) If only Course of Action (ll) is suggested

(3) If neither Course of Action (1) nor Course of Action (I1) is suggested.

u-(‘{]' If both Course of Action (I) and Course of Action (ll) are suggested.

VU STICIE EEARES @J’ﬁlﬂi 2.8 |OEOQ (Statement) DOAh God SLEHVD ﬁrﬁgu
(Courses of action) aﬁsﬁgﬂm. SRS VS S8 (DEORS ‘J.}‘éﬂ:iagéa woarp Bo
WrYEr o FePgorrw Wi whwd Jemrd &oed. (DEGRS' DEYR)
COTeUR Jerea grAowd. VO PEOSD  DOAh S0EDeE SYgud
DBBOOWD 1D wh SOHI YA VTS Dérgedorr 990504

PEGS : Sa eI Irerd PES [DArcres I DT withdao.

SWE"HO N6 B¢~ 1 1 Irerd 18 DGV S8 TG LW Vo0dE s Hes
[FPENr0TO.

BETHRY &g — I : Irer§ JES DA D wIKorr HELHOE Jaho(@owrd.
(1) aE%ed BYg — 18| ED ©FIND.

(2) SL&8%Hed g — I ED e IR0,

(3) a‘b‘sm&é codh é‘éﬂ%ﬁa‘&g‘é iﬁejgu @é@m.

(4) a‘é:safé cod Q‘&n?a-&b‘b étﬁgm @@}‘33.
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112. Directions : In making decisions about important issues, it is desirable to be able to
distinguish between ‘strong’ and ‘weak’ arguments so far as they are related to the issue.
‘Strong’ arguments must be both important and directly related ta the issue. ‘Weak’
arguments may not be directly related to the question and may be of minor importance
or may be related to the trivial aspects of the issue. ol
The Statement given below is followed by two arguments numbered (I) and (I1). You have
to decide which of the arguments is strong and which is weak.

Statement : Should we scrap capital punishment ?
Argument | : Yes. No one has the right to kill another human whatever be the reason.
Argument Il : No. The fear of death sentence will stop people from committing heinous

(1)
(3)

crime.
If only argument (1) is strong. (2) If only argument (l1) is strong.
If neither (1) nor(ll) is strong. ) Ifboth (I) and (1) are strong.

el Qg abres ST EwoH e Qgabre S8R T are S’ (arguments) D
DUDA), DD VUTHIOD 0 80D GodEo w50, VUDV TT (DEGRSTD
w0708 Jhr Dowodo ¥OA WPIIVINT®  GOLraD. VUSRDO e
PEOISY woad8 I Dowodo B mEr Sor N G T B S
G Ot Q.

et L‘J.}F’alﬂ* erfiom 2.8 (DE¥&D (statement), Sodh arcren (arguments) aé&m?w.
RN (LELID, TrareD HOZOOD RWIO B0 WEDE, DO FRDE QZowoEod.
(FEO : D B Sefomrer ?

T80 = | SYD. 528620 IBIBE 2.8 DA [P0 003 ¥y 08 T,

S0 - Il : Sh. DBeaoES fabo Fosod (528 Des BobHoae ei)dHosd.

(1)
(3)

TS0 — | HED eI, (2)  &&0 -1l ErED oS,
QW)Y Bod Trorw DI SUY). (4) YO Todd Toren DR

113. Directions : In the question given below there is a pair of events (1 & I1). You have to read
both the event (I) and (Il); and then decide the nature of relationship (cause and effect)
that exists between them.

Event | : The demand for solar panels has increased many folds.

hj?nt Il : The government has widely publicized the benefits of solar energy,
)

(2)
(3)
(4)

If (1)-is the effect and (Il) is its immediate and principal cause.
If (1) is the immediate and principal cause and (ll) is its effect.
If (1) is an effect but (Il) is not its immediate and principal cause.
If (1) is an effect but (1) is not its immediate and principal cause.

ardoes @ S 808 Auw)e G0l VoG (events) HOBD0D oo ‘ém‘,ﬁg &“r'al
s*8s 5% (cause and effect) SCTALTA 0 QEa0B0E.

DORBE — | WrYese08 o AeS SairH B v Dede Aoe8 OS) Téw WOA0B.
VOGN — 11 T8 oqo° wod SV HB0D (pgbSc0 0y (Dardo Fos.

(1)
(2)
(3)
(4)

Series-A

wf

03PN — | (V2°R0; A8 (DE°R 580 LoLS — I,
0N Il [L27°D0; e (PEPR S*820 Voldd - |.

ORBER — | [D277D0; 570 T8 (D6 5800 Votndd — Il 59,
03PN — Il [R27°R0; 57 T°A8 (DE™0 S*8:0 LoHS — | 5.

e~ B e

?.-:'
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to 114. If the total pumber of dots on opposite faces of a dice is always 7, find the correct figure

le. given below
1‘; 28 FUEH 63) o) tare HE e ¢H)D. D HIATE tware &%) 9% & o

T 7 D008, & 808 ad) ) FDEST & DT EAV0S ?

/=

()" ¥] e |o (1

Ve

15

5]
L ] “
0 u:m:.]Q — (I
3 A 2) ()
) (3) (m) (4) (V)
o
115. Pointing to Venkat, Vasantha said, “He is son of my father’s son”. How is Venkat's mother
is related to Vasantha ? S
. (1) Daughter (2) Sister-in-law
!. (3) Sister (4) Aunt
VS W TN FHE BUD’ o $hod 30LSD WU 908, 08¢ SO DVoEH
DY Hod ?
! (1) Sréid (2) LB a-_reﬁg
(3) %6 (4) A

116. If RAMU is coded as WOCT, then the code for NEST will be ;
25 708 7S RAMU o3 V@) WOCT e &0 )05, NEST o0 D0, & erde®

e Dethehod ?
(1) PHVU (2) UVGP
(3) VUPG - U4 vuGP

117. A; B, C, D, E and F are standing in a circle. B is between D and C. A is between Eand C. D
Is to the immediate left of F. Who is standing in between A and B ?

A B, C D EwbabF ¥ Dasos® Sead &I, D, C o wg B ﬁéﬂ;}_da. E, Ce
B‘::)r:_f:g A GIM&D. FS Tbéa_ﬁ &S D GIM. A, Be e T G S ?

A} .D (2): E

(3) F Jsr C

118. IfM=N;R=S; N>T; Q< N, then which of the following is true ?
M=N;R=5;N>T: Q<N evona & §Dﬁ;:ﬂ¢3¢?"b&ni:é5‘ém?
(1) N<Mm t‘Z}/" T<M
(3) , N<Q (4) M<Q
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Directions- : (Q.Nos. 119-123) Study the following radar diagram careﬁlllﬁ and answer the
questions that follow :

Number of Students Enrolled in Three Different Disciplines in Five Different Colleges.

Srdow (R.00wg 119-123) @ 308 @WY® 0°arb oS DBV & 80 WP
(28 B BT Bargrare (000WS0a.

2 Evrared® Quedh Jermred® J05 Darghe Dowg

- B.A cegee B.5¢C ——g—f.Com

119. The number of students studying B.Com in college C forms approximately what percent
of the total number of students studying B.Com in all colleges together ?
C a3 E® B.Com DERYER) DImgHe Vo W) e 7red” B.Com LR
W&o Jargdhes Lowgs” WErd Jod #>E0 ?
(1) 27 (2) 21 (3) 16 {4‘]/ 17

120. What is the respective ratio of total number of students studying B.Sc. in colleges Cand E
together to these studying B.A. in colleges A and B together ?

C w0ab E Serarod® BSc. Sy drghes O A, B Egrared® BA.
BHYER) Aargdhe g &) NS Jods ?

(1) 24:23 (2) 25:27 3) 29:23 (4) 27:25
121. What is the respective ratio of total number of students studying B.Sc, B.A and R Com in
all the colleges together ?

SN éwmmgf £ B.Sc., B.A. 06k B.Com H$63 E)c:ﬂggm fd'ua}‘g o) é'ﬁ-‘izj@ﬁi God ?
J(1) 71:67:7% (2) 67:71:75 71:68:75 (4) 71:75:68

122. The number of students studying B.A in college B forms what percent of total number of

students studying all the disciplines together in that college (Rounded off two digits after
decimal) ?

B ¥¢aes® BA 3O drgdhe Vowg 8 SerTrudt o (o) derrren EO)
Qarggue.:ﬁ" dod FE0 (TUHE Sovgd ok ST DED) ?
(1). 26.86 27.27 (3) 29.84 (4) 28.94
123. What is the total number of students studying B.Sc. in all colleges together ?
| O Fvared’ E82 B.Sc. 83 Mo DargHe Vowg o ?
1825 (2) 1975 (3) 1650 (4) 1775

Series-A 24 600



]

124. Which Constitutional Amendment provided that at least 2/3 members of a legislature party

€ should agree for a valid merger with another political party ?

(1) 91* Amendment, 2003 (2) 91* Amendment, 2004
. (3) 91" Amendment, 2005 (4) 91" Amendment, 2006
|I

By orergolf Uade (L5780 2.8 oraddb S 208°E ST DON0 sTEreoB o ©
FEIR DEOS 2/3 D Dok Toud Vehges wErdo Budrd ?

(1) 919 VHYes, 2003 (2) 912 VDYes, 2004

(3) 91% YVHSes, 2005 (4) 91% LdSe, 2006

125. Which of the following statements is true in respect of the Supreme Court and High Courts ?
(a) The High Courts have no original jurisdiction to protect fundamental rights.;
(b) The Supreme Court is an umpire in resolving inter-state disputes in all cases. -

(c) The jurisdiction of High Courts under Article 226 is wider than that of the Supreme +
Court under Article 32.

(d) The jurisdiction of the Supreme Court under Article 32 is wider than that of High
Courts under Article 226.

(1) (a)and (b) only JB}I:Sb] and (c)only (3) (c)only (4) (d) only

W08, 3rEHeDH Vowodod 80 FBE° WEDOE VTHB ?

(a) TEHeD (P L&) o VOBZ0D BES=8 HOO TH.

(b) o) Isre wodovyy ey ‘&ﬂﬁzw&% ‘&n@ﬂéﬂr@) 2.8 aﬁgo‘i: béém TR0

(c) e§§§ 226 [ws 8o }_ngga 50 00O, Hgéc'f 32 [ws~do inLﬁmgsgs 008 S5

DTPUIO.

(d) ©85d 32 [Ds 8o W@OE'Y wos™Y VOB, wES 226 (Ws 8o EHe VY
557 DT U0,

(1)  (a) DO (b) oD (2) (b) S0 (c) D

(3) () Soo(SSD (4)  (d) (&

126. Article 105 of the Constitution deals with

,J,LJ Powers, Privileges, etc of the Houses of Parliament, its members and members of
committees thereof

(2) Powers, Privileges, etc of Houses of Parliament only

(3) Powers, Privileges, etc of Parliament members only

(4) Powers, Privileges, etc of the State Legislatures and their Committees
o2g0iod’ 105 D 08 808 oBS* T8 Vo0 WK ?

} (1) EDo& s¥ad Vefe Vhge oAk Edde &' Voo (DBgE whs ore DO
KdsE Wibarctres.
(2) SFEDo& &F¥ad Ve (DEgE wdstorw, Vbaraires.
(3) ﬁvgama'i_:bz;ﬁgb @1355 9 S*or e oA D abren.
(4)  OrEr9ed’R BN Wes DA & ehge G, E.Jégé 0S5 T e DOA Wharahres.
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127. The President enjoys pardoning powers under -
(1) , "Article 72 of the Constitution (2) Article 73 of the Constitution

Article 74 of the Constitution Q‘I‘H Article 75 of the Constitution
2788 oog9088 ) Trergol (DEGe0 (V580 XY wdsoren Ro[Edomran ?
(1) ©8&d72 (2) ©0¥&73 (3) wo¥S74 (4) @B¥S75
128. Smt. Selvi Vs State of Karnataka is a landmark decision relating to
(1) Narco-analysis tests Encounter killings
(3) Death penalty (4) Handcuffing of arrested persons

|78 W83 Vs SombE Dibdco o [Powp 8%y 808 SIS D womrdd
VoW0HO0VHE ?

(1) &6 - DFhee DEFeo (2)  ASTobE drdges

(3) DBe2?Y (4) 39 wad HeHe® Pées Sabo.

129. Among the total members of Rajya Sabha, how many of them are nominated mem bers ?
0238085 Rvo e S” Jodod TDIBE VEHT Podrd ?

(1) 10 (@ 12 (3) 08 (4) 02

130. To ensure impartiality, the retired Judges of the Supreme Court are debarred from
practicing law
(1) inany Court other than State High Courts
(2) in any arbitration proceedings
{3 in any Court of India
(4) in any Court other than the Supreme Court

Tgab HEDVST P BESD JBotHeD, &@Jng‘gb oW Va) he TodS
Trgoburdes & 808 &Pt (S Sabae) Ndpowrh ?

(1) ooF9ed® &Het S0 388 Pt

2) B> DSgHESe e HOAY Tree

B) 288850 Q FrgabF o S

(4) D08 Sy D a8 SFHoc3or

.8

131. The Constituent Assembly of India was set-up
(1) through a resolution of the Provisional Government
(2) by the Indian National Congress
(3) under the Indian Independence Act, 1947
Jj]‘ under the Cabinet Mission Plan, 1946

2o 8eb orezegolf VORSD o dSorr :Jti;]ﬂm'ﬁa ?
(1)  oDYE oo OF (Dededg 80700 argoe
(2) 288 2raab sroAS Qo
(3) erde R&oe 1.“.3%::}, 1947 80¢&
(4) 1946 o0¢3 SeeDIE DS DSKo (s~8o
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132. Janani Suraksha Yojana of NRHM aims at

133.

134,

(1) HealthrEducation (2) Child care
}B} Reducirjg maternal mortality (4) Vaccination of mothers
2> 80P |Tdes e8°Hg DASSTD 200 WEY Brad wag &g%o;
(1) Eﬁfﬁg DSgD S0yoSgo (2) RO Vo8
(3) Sewe Y FE ) éﬁuﬁdc (4) Sevu Ssren SawoSEo

Following is an important contentious issue between Land Acquisition, Rehabilitation and
Resettlement Act, 2013 and Present Amendment Bill, 2015 :

(1) Financial Impact Assessment (2) Cultural Impact Assessment

(3) Environmental Impact Assessment 4y Social Impact Assessment

e VESe, YRTETL B8O, 2013, (DS VT DHew, 2015 & Ko [Dord dararobo -
(1) @Qé L‘a’aa_:a‘a‘.'ﬁl S8) 0wo. (2) Srowyyes l‘_!ba_fﬂa‘i)l ©8) odco.
(3) ‘!bmga‘adm (Perardy &) od&o. (4)  rewe2¥ @zlrﬂs:ﬂbl ©§) odo.

Which is an incorrect objective of RUSA ?

(1) Correcting regional imbalances in access to higher education.

+(2)  Ensuring equity in higher education.

135.

(3) Ensuring availability of adequate Faculty.

(4) Encouraging establishment of private Universities.

& (6.00.J0..) ¢80 70 0 ?

(1) (Frodcd elbrtded Sufod GV & g w008 wobartnd®s Ehdo.
(2) &S igd® V& JrQoso.

(3) 0% S 2220708 efodIcdéo.

(4) 2930 DigAargeod FVD (DS )2roBdo.

‘Ujwala’, the scheme of Govt. of India is meant for helping the victims of
JA)  Trafficking (2) AIDS
(3) Bonded labour (4) Natural calamities
B’ o i (22DEe s 8 E0 DD "SJE’JGDSJ‘QD ﬁé%u:ﬁu&ﬁ:& ?
(1) eDosdy) “égﬁjﬂ*-r:i 2 &b (2) :::JDJJEJ (AIDS) 28 bewn
(3) 38 =80 wrddes (4) [0%)3 E‘é}ﬁeﬁs 2O e
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136. One of the following is NOT the objective of Govt. of India programme 'Beti Bachao, Beti
Padhao’ :
(1) Prevention of gender based sex selective elimination
(2)  Ensuring survival & protection of the girl child
(3)  Ensuring education and participation of the girl child
(4] Ensuring employment to girl child

808 aS® e e [Pehdg s~8g Eo B8 wwrs, B Daes™ v¥g0 570
(1) ©off ugrdd IDESD Jewndotsdo

(2) erdfe 8%, DKESH SHEhdso

B) 2rdSu erHidggo, SgH S0

(4) 2rO%ud agard Edyod&o

137. The only express limitation imposed on the power of retrn;pectwe legislation is
(1)  under Article 20(1) with regard to penal laws~_~>
(2) found in Article 245 with respect to extra-territoriality
(3) found in Article 368 with reference to amendment power
(4) found in the Basic structure theory

x‘Sducn Dash o %08 wwodd LoD & WP e 3&]3‘50& &:’0123 2.8 rg% W&
{1} 1BINS Sgr e Lowofod U‘ar'gc:-ﬁo@‘& @ééma 20(1) argoe

(2) mwsoﬁ (882 245 &S &:i:l BEY) |BS0ES

(3) orergod (WET 368 S° GO orergod Unds (@|8ab

(4) orzrgol WO ::JD"E’EE RJ%:-‘GE.‘:E@‘D&

138. The power to impose and assess a tax
(1) is not an essential legislative power.
(2) is an exercise of subordinate legislature.
x{(ﬂ iS an executive power.
J4])" is an essential legislative funt:tlun ’

W) DB0Y), WAOY) 8RS B0

(1) S0 TR wds S0 57,
(2) OIS TR Soye 2.

(3) 5°EgQuegsrE whs o.

(4) =R TR VowoBow S ;):CJ

139. The.Council of Ministers shall be collectively responsible

to the House of the People (2) tothe President of India
(3) tothe leader of the legislative party (4) tothe leader of the opposition
JDOSE o8 Wodkd QAT 2E5g S DA ?
(1) S*EL% (2) o~g9ods
(3) =RV DE TrahH8 (4) (PEVE TabhHAS |
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140. The President’s power to grant pardon is to hefg_xgﬁrcised

141.

142,

143.

(1) on the basis of judicial opinion 5 ;‘12] by the President on his own

(3) on the basis of Statute (4)  on the advice of Council of Ministers
o908 @ wgrorn ErD¥ (D803 BE5°0°J) IQAA0HH 0D ?

(1) Srgad ed@Drabo egrorr (2) &% s

(3) #Vn0 sorSon (4) Do@Do&d IO

A legislature in exercise of its legislative power cannot

(1) extend to its own territory a law made by another legislature
(2) 7/ directly override a Judicial decision

(3) validate an ultra-vires legislation after becoming competent
(4) make retrospective legislation

T S5 TOTH S 90578 IBrHoSt Fabord

(1) 38 7=0baee Id DErdy & (S8 HYo Jahe

(2)  ([P&ggone Sgab Agabru S8 80N,

(3) SrgabdoRS® T TN o SOAD Sored g EOA0THY.
(4)  YrEgsm eS8 HBoLTah T=0do Sahoes.

The Governor of a State

#1)  shall not be a member of either houses of Parliament or any state legislature
(2) should not be above 35 years of age

(3) should not be an Indian citizen

(4) should also hold any other office of profit

Tray K865 VooB0D Bob a8t Ha VgD ?

(1) SrEDoEE® 520, 7=Ld VIS® 509 Vehed stoe.
(2) 35 ‘!-Jr.::ﬁ:e‘.‘gmm éa"l D) D ﬁ)oﬁﬂa olropto’)

(3) S Sk seo~.

(4) =283 ordoradd DS ¥OA &oXksSTh.

The Supreme Court has affirmed that it can order the restoration of the State Assembly
dissolved by Presidential order in the case of - : N

(1) S.R. Bommai Vs. Union of India o

(2)  State of Rajasthan Vs. Union of India «
(3)  A.D.M.Jabalpur Vs. Shukla S.S.

(4) Radha Krishna Agarwal Vs, State of Bihar

DS’ T°g2280S°  Topedd o863 8% Dabads o*Ry B 0DH
RYRDEO0BDEND $)DEB0 VLA ?

(1) JN.es8, ﬁ‘@a Vs. 2e el (Pebeseo (2) m&:.grbS o390 Vs. 23°8e (b0
(3)  .6.dD. 22205rE Vs. DS 0. 0. (4) OrERS )a 6H0eed Vs, D556 T~Q90
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144,

145.

146.

147.

148.

149,

150.

Which of the following district has the highest cropping intensity in 2012-13 ?

(1) Nizamabad (2) Khammam ) Karimnagar (4) Nalgonda
& 800 &S 6B Dove BHS Ke (2012-13) e

(1) Rerarerd (2) qfé‘nac: (3) ¥60546 (4) D<o
‘Enamamula’ in Telangana is famously known for

(1) Textiles “(2)  Grain market

(3) Silk (4) Pilgrimage centre

Buomed® ‘J5hehne” A8 S~

(1) SF9ew (2) FRgo TS (3) (4) © Deag B[S0
The proposed ‘Pharma City’ by the Telangana Government will be located at

(1) Jeedimetla (2) Shamshabad (3) Muccherla MJ/ Shamirpet
Beomed® Rehde (DB ‘o’ SvETy |rodo

(1) 26D& (2) Hodrars (3) w3y (4) &G

Which of the following district ranked last in Human Development Index (HDI) of
Telangana in 2011-12 ?
(1) Medak {2]"; Mahaboobnagar (3) Nizamabad (4) Nalgonda

&3 808 °0S° BeomestD O 2 WD fﬁﬁ)‘é’a‘.}tg 0¥ (HDI) &° (2011-12) &* 256
g‘}'aﬂfﬂ* &od ?
(1) S5 (2) &rawrrdord  (3) Jadrers (4) DS od

Which among the following districts in Telangana State does not have _inter-state
boundary ?

(1) R'ErTigaﬂReddy *—-('2]/ Hyderabad

(3) Nalgonda (4) Mahaboobnagar

80 '5.:5"‘5_&; ) 2% Beormre o¥a90S* ©0860739aH RO T ?

(1) Sormr3& (2) “rdorerd (3) NS0l (4) DIrr5HHE
Telangana Water Grid aims at providing drinking water to
4] Towns and Villages (2) Greater Hyderabad only

(3) Rural areas only (4)  Major urban areas only

€3 S00 88 &~ HAH ©0B0SE0 BLormre oD (A& D580 ¥y &340

(1) Vderes, [mhres (2) (&S wEoers GrEd

(3) (e (Fosrw | S$D (4) wpg Y |Froere® S| 83D

Indravatiis a tributary of
(1) Mahanadi {Z_I/Krishna {3) Godavari (4) Tungabhadra
20(H8 & SIS

(1) D558 (2)  Ear (3) Aadd (4)  SoKes S
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